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1. Zayan is on a fitness program.
He should do 8 squat thrusts a day.
How many squat thrusts should he do in 8 days?

|
2. Scarlett saves £8 every month for 7 months.
How much does Scarlett save altogether in the 7 months?
2.
3. A starflower is a white flower with 7 petals.
How many petals do 7 starflowers have?
S F
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Ava is planting up sweat pea plants.

She plants 6 sweat pea plants in each plant pot.

How many sweat pea plants does she plant in 3 plant pots?

Jessica makes up packets of sea shells.
Each packet of sea shells contains 3 cockles.

How many cockles in 3 packets of sea shells?

Amreen needs 3 tins of cat food every day to feed her cats.

How many tins does she need to feed her cats for 6 days?
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